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BERNRE SHSEER S BHAIEE
£ b B - KR B 2 i & % S
BEAEE 3,312, 627
MEIEEEH 3,312, 627
MEIEEXH% 3,312, 627
BMEEE 3,245, 627
BEER 543, 403
1 FEEE 1.00 543, 403 543, 403
=
BMEEE 1,553, 386
2 #fE - 2% 1.00 402, 168 402, 168
b |
3 HSRIFEE [HB5ERRX] HREE 47.00 24 494 1,151,218
km
AT 1,148, 838
4 BRI 35.30 32,545 1,148,838
km
EERE 67,000
MR 67,000
b EFRERER 1.00 67,000 67,000




WIEE THSFEESERSRE

% g & - BARTE Bifg H 2 B ® & S
EERATE 1,600, 427
ERE 1,600, 427 x 80.5% — 8,770 1,279,573
HEEHE 1,600,427 + 1,279,573 2, 880, 000
BRI 1,645,200 + 67,000 1,712,200
EEAGE 1,645, 200
EEEE 67, 000
T DR 1,645,200 x 53.85% ( 35% = (1 — 35%) ) 885, 940
EHRIE 1,712,200 + 885,940 2,598, 140
—REEES 2,598,140 x 53.85% (35% — (1 — 35%) ) — 7,238 1,391, 860
BRES T 2,598,140 + 1,391,860 3,990, 000
ESlid 2,880,000 + 3,990, 000 6, 870, 000
HETEALE 6,870,000 x 10.00% 687, 000
HRFEEER (IR E 6,870,000 + 687,000 7,557,000




REKR-FEL/\vr—2 SHSEEELEHEEE

FE5:1
L IREEE
% 7 g - BIRTiE BAf H = B @ & % = " =

EX T TC )

A 2.50 62, 200. 00 155, 500
A (A)

A 2.50 55, 200. 00 138, 000
A (B)

A 2.00 45, 300. 00 90, 600
B HEm

A 2.00 44, 000. 00 88, 000
B EHEnE

A 2.00 34, 300. 00 68, 600
HME 2{KDY%

% 0.50 540, 700. 00 2,703
& i E%8EH : 1.00=K 543, 403. 00 543, 403
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T FEESERTRE

H#E5:2
L EEE - R 1B ED
% 7 g - BIRTiE BT = B M %5 = " =
RBE S4 kN> 2L
A 1.00 3,276.00 3,276/2.00H / 8H
MKIEE AR MSIEESTRIEEQ /L, Bigss. DH%
=] 0.50 23, 925. 00 11, 962
EER #AD 200PSE!
A 0.25 188, 534. 00 47,133 6. 00H / 8H
FEAM FRP
A 0.75 58, 410. 00 43,807 8H
EX: T TC D)
A 0.75 62, 200. 00 46, 650
A (A)
A 1.13 55, 200. 00 62, 376
A (B)
A 0.88 45, 300. 00 39, 864
Bl EHEm
A 0.50 44, 000. 00 22, 000
B EHEnE
A 0.50 34, 300. 00 17,150
BIEBF
A 1.50 32, 200. 00 48, 300
RIEHEE
A 1.50 217, 000. 00 40, 500
HME 2KD%
% 5. 00 383,018.00 19, 150
& i %4 : 1.0048 402, 168. 00 402, 168
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H#E5:3
& MEREE [(FABsEhR] mHEREE 1LY (27.2km)
% 7 g - BIRTiE BT = B M %5 = " =
RBE S4 kN> 2L
A 1.00 3,276.00 3,276/2.00H / 8H
EER #AD 200PSE!
=] 1.00 188, 534. 00 188,534 /6. 00H / 8H
FEAM FRP
A 1.00 58, 410. 00 58,410 8H
MKIEERR MSIEESIREEa /L, Bigss. DH%
A 1.00 23, 925. 00 23,925
GNSS;Hlfz 2 & DGNSS
=] 1.00 25, 575. 00 25,575
BRI 15  200kHz
A 1.00 9, 256. 50 9, 256
EX: T AC )
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
A (B)
A 1.00 45, 300. 00 45, 300
Bl EHEm
A 2.00 44, 000. 00 88, 000
B EHEnE
A 1.00 34, 300. 00 34, 300
BIEBF
A 1.00 32, 200. 00 32, 200
BIEHEE
A 1.00 217, 000. 00 27,000
HME 2KD%
% 2.00 653, 176. 00 13, 063
& i YE¥8H : 27. 20k m 24, 494. 00 666, 239
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FE 4
2 . BREN 100k m& Y
2 {7 g - BIRTE = v = B O{f ® W= " =
F1EBER GEED
A 12.00 62, 200. 00 746, 400
AR (A)
A 16. 00 55, 200. 00 883, 200
A (B)
A 16. 00 45, 300. 00 724, 800
B EHER
A 8.00 44, 000. 00 352, 000
B E A
A 8.00 34, 300. 00 274, 400
REBF
A 8.00 32, 200. 00 257, 600
AN 2H0%
% 0.50 3, 238, 400. 00 16,192
& b YE%8EH : 100.00k m 32, 545.00 3, 254, 592
H#E:5
B EBBERR 1KY
2 L7 g - BIRTE = v = B O{f ® W= " =
EBHRRE
= 1.00 67,000. 00 67,000
& it 1EZRER - 1.00 67,000. 00 67,000




